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EE 483/583 Antennas for Wireless Communications
Quiz #7 (Spring 2024)

Name /é C/V

Instructions: Open book/notes. Put answers in indicated spaces & show all work for credit. ¢ =2.998 x 10% m/s.

A PEC folded dipole operates at 106.7 MHz in free space. It is 1.34 m long with 18 AWG (1.02362 mm
diameter) copper wires spaced 8 mm apart. Find the characteristic impedance of transmission line mode,

equivalent radius of the antenna mode (mm), and length of the antenna in wavelengths ((/1). Then, find the

phase constant and input impedance of the transmission line mode. From the table of selected NEC-2 excerpts,
select the input impedance of antenna mode and calculate the estimated & exact input impedance (rectangular
format) for the folded dipole.
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NEC-2 I/O excerpts for antenna mode input impedance ( one selected)
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